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Population <« 0;
for k=1 to PopSize do
Crvelocity < Random Velocity();
Ciposition < Random Position();
Cilbest < Cyposition ;
Population + CY
end for
Cgbest — 0;
while Stop Condition do
SearchPopulation, TrackPopulation <+ SetCatsPopModes(Population);
Evaluate Population(population);
Cgpest < GetBestSolution(Population);
for each C}, €SearchPopulation do
j « SMP;
if SPC=true then
Jei—1
end if
CopySet + 0
CopyPopulation < MakePositionCopies(Cyposition, j)
for each XeCopyPopulation do
X+ UpdatePosition(X,CDC,SRD);
end for
EvaluatePopulation(CopyPopulation);
FSpin +GetWorstSolution(CopyPopulation);
FSpnaz +GetBestSolution(CopyPopulation);
NormalizeFittness(CopyPopulation,F Sy, in, FSmaz);
C. +SelectPosition(CopyPopulation);
for each Cj €TrackPopulation do
Cruelocity + UpdateVelocity (Crvelocity, Cilbest, ¢y );
Ciposition < UpdatePosition(Cyposition, Crvelocity);
if Fitness(Cgposition)>Fitness(Cilbest) then
Cllbest < Cposition
end if
end for
end for
end while
EvaluatePopulation(Population);
Shest <+ GetBestSolution(Population);
return S—best;




